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print (“Hello World”) age = 16
X = 142 if (age>=18):

print (x)

else:
print (“You can’t

print (“You can vote

/I)

I/)

sum = 0

for x in range (0.
sum + X

sSum

w AE—I— r”

print ("3

, Ssum)
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| k<0,1,2,..99 |

for k in range (100) :
if(k%7==0) :
print (k)
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3. forX

- forXX DB (E=7H)

WIBNES

for Z# in REQEATITD

- [REAGEATZT O MB1DITDERZEDIZUT [ZH] (TR,

- NMUERE] ZE0DRT,
« 131

o for x in [10, 20, 30, 40, 507:
print(x)

10
20
30
40
b0

' ° lis = [10, 20, 30, 40, 50]

for x in lis:
print(x)

20
a0
40
60
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3.1 forXDUIBDHRN

for x in [10, 20, 30, 40, 50]:

print (x)
JL—7 s5[alH
JL—7 4[E] B
JL—7 3[E18B
JL—7 2[A1H
l JL—7 1[E B
vV V l |
8 X JA Kk [10, 20, 30, 40, 50]

A

print (x)




3.2range A>T~

. BIEBIHO®R DR L TR &S O il
. . . skip =7
tow L Adm LGl (10) * 0 for i in range(begin, end, skip):
print (i) 1 srint (1)
vy . R 2
£#i120,1,..,9 DIEMIEZEIC | o |
RAZh D, ' :
9
-
9
X ZEH begin, end, skip [CBH#MEMNA-TEET S O
rangeMDE B A% BoNLSEZHDS
rand(end) oMiblend-11FETODEE
range(begin, end) beginmislend-1]FEFTHDEE
range(start, end, skip) begin®5lend-11ETDEH, —
==L 5 skip DE,
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range A>T U b

>>> list (range(10))

[0, 1, 2, 3, 4, 5, 6, 7, 8, 91 <+ 0NSIFTORTHLVFTY |
>>> list(range (3, 10))

[3, 4, 5, 6, 7, 8, 91 <«——{3D5IFTONFHILVET )

>>> list(range(1l, 30, 10))

[1, 11, 21] <~ 29EBABLVEETINS10TDEMEZFT )
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print (i)
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- breakX
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- continueX
— continuehttiizs, €DHF—>DiDIRUVIBEHEIRT
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break> |
total = 0
|
total = 0 _
for 1 in range(10) : 14012,.,9
total += 1 |
1f total > 20: total+=i
break y
total>20 €5 |
print (i, total) . break
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continueX
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total = 0
for 1 in range (100) :
if 1%3==0:
continue
print (1)
total += 1

print ( "EETIE , total)
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for a 1n range(1l,4):
print ('a="', a)
for b 1n range (1, 3) :

} ~ | forXX®DHIZ, forXMES

print (' b="', Db)
=l N
b= 1
N } PRI DREYEL A
a= 2 &)
b= 1 - $&
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4. whileX

- 1B

— ZFHDIEN True DfE. NIBAFZHENDIRT

while ZFfFI\:
WIBANE

1 =0

while 1 < 5:
print ('CAITBIL)
i+= 1

° i =0

K

while 1 < b
print("Z AIZ2BIE)
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i =20
while 1 < 5:

print ('ZAITBIL)

No (False

i += 1
1 =0
| 1<5
s s 46 Yes|(True)
F1H D True _
- S - [ZAIZ 7~
rouEETs =M BFJ%%ZT
1 +=1

A— feal) IR ——k C

A

ZHER D False
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1 = 20
while 1 > O:
print (1)

1 —-= 5

ZHi DENOKYKREITILIEL, ROTOVID0EE

EH#HiDEXTH A
i DIEZS55|LNT, i LEEE

O -
while 1 > O
print(i)
| -= 5
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« forXZESIFE L, whileXZEESTZIGED2DDOT 0 S L ERK
LT<L<Zaly,

forX whileXX
total = O total = 0
for 1 1n range(10, 21): 1 =10
total += 1 while 1 < 21:
print(total) total += 1
1 += 1
print(total)
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« BRI TR UEforz o270 5 A0— RIS LT, 157207
TR UENDEURWVWEKDICEELTLIEEL, ZE(X continue X
ZHWTLZELY,

forX

total = O

for 1 1n range(lO 21):
total += 1

print(total)
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« BRI TR UEforz o270 5 A0— RIS LT, 157207
TR UENDEURWVWEKDICEELTLIEEL, ZE(X continue X
ZHWTLZELY,

forX

total = 0
for 1 1n range(10, 21):
1f 1 == 15:
continue
total += 1
print(total)
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« IFTOO— RI(EK, UX I scores [N TULWDIERDDS S, EN
60K D KEVENMAMED DN EZDTOTSLADO—EFTY ., 224
BR=IBHT, JOTSLhEZETHRIBTLIZE0),

scores = [65, 80, 40, 92, 76, 52]
count = 0 # {EAGOLKYKRETVEZDH
for i in scores:

ZE fi

print(count) # #ER*HA
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« IFOO— RIE, UX I scores (TSN TULWDIERDDS S, EH

60K D REVENMIMED DN EHRA DT OIS LAD—EPTY ., ZEHH
BN ZEIBHT, TOJSAZTHRSETIIZE 0,

scores = [65, 80, 40, 92, 76, 52]
count = 0 # {EAGOKYKRENERDH
for i in scores:
if i>=60:
count += 1

print(count) # #ER*HA
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